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英语试题
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考生注意事项
1. 认真、工整地填写答题卡。
2. 请勿在此试题本上做任何标记。
3. 做题时请按例子所示，用HB或2B铅笔在答题卡上随题作答，不要把答案标在试题本上。正确答题方法（如B为所选择的答案）：
[A] [B] [C] [D]
4. 整个试卷共100题, 满分为100分（每题1分）。
5. 听力录音长度约21分钟，共30题，其中10题有惩罚措施：做对得1分，做错扣0.5分。因此建议：不要做没有把握的题。

6．阅读部分中第91-100题亦有惩罚措施：做对得1分；做错扣1分。
7. 听力结束之后立即开始语法词汇部分，然后是填充部分和阅读部分。这三部分时间统用，共60分钟。

Part I Listening Comprehension

Section A 

Directions :

In this section, you will hear 10 short statements. The statements will be spoken just ONCE. They will not be written out for you, and you must listen carefully in order to understand what the speaker says.

When you hear a statement, you will have a period of 15 to 20 seconds to read the four sentences in your Test Book and decide which one is closest in meaning to the statement you have heard. Then, on your Answer Sheet, find the number of the problem and mark your answer by drawing with a pencil a short bar across the corresponding letter in the brackets.

Listen to the following example:

You will hear:

You will read:

[A] He's been living in Beijing for a long time.

[B] He used to live in Beijing.

[C] He's gone to Beijing for a short visit.

[D] He should stay longer in Beijing, 
Sentence [B] “He used to live in Beijing” is closest in meaning to the statement “He is no longer living in Beijing.” Therefore you should choose [B] . 
l.
[A] What is the terrible mistake?


[B] Is that a terrible mistake?
[C] It's the worst mistake.

[D] How is that mistake?

2. [A] Is that the last book you need from the library?

[B] When are you going to be back from the library?

[C] Will you be in the library as long as I will?

[D] Would you return my book when you go to the library?

3. [A] He is selfish.

[B] He is a generous person.

[C] He isn't so selfish.

[D] He would lend you the record.

4. [A] More people play tennis.

[B] Football is most popular, 

[C] More people play football.

[D] Tennis is almost as popular as football.

5. [A] Mary prefers going to the clinic alone.

[B] Mary doesn't want to go to the clinic today.

[C] Mary would rather go to the clinic today than stay at home.

[D] Mary hopes her friend will go to the clinic with her.
6. [A] Let's look for falling rocks.

[B] Don't let those falling rocks hit you.

[C] Help me move these rocks which fell.

[D] Look out the window at those falling rocks.

7. [A] Neither Cathy nor I understand what the sign means.

[B] Cathy hasn't finished the homework, but I have.

[C] Cathy and I still have work to do.

[D] I have read half of the assigned chapters.

8. [A] Jim stopped to have a cigarette.

[B] Jim couldn't find a match anywhere.

[C] Jim was given a new cigarette lighter.

[D] Jim hasn't had a cigarette this year.

9. [Al Emily's aunt raised her.

[B] Emily's aunt brought her upstairs.

[C] Emily brought her aunt with her.

[D| Emily bought a present for her aunt.

10. [A] Go directly to the post office when class is over, 

[B] Let's first straighten up the classroom and then go to the post office.

[C] That's the most direct way to the post office from our class.

[D] The post office is straight ahead of the classroom building.

Section B
Directions:

In this section you will hear 10 short conversations between two speakers. At the end of each conversation, a question will be asked about what was said. You will hear the question only once. When you have heard the question, you will have a period of 15 to 20 seconds to read the four possible answers marked [A] , [B] , [C] and [D] and decide which is the best answer. Mark your answer on the Answer Sheet by drawing with a pencil a short bar across the corresponding letter in the brackets.

Example :

You will hear:
You will read:

[A] At the office.

[B] On his way to work.

[C] Home in bed.

[D] Away on vacation.

From the conversation, we know that Bill is sick and will have to stay in bed until Monday. The best answer, then, is [C] “Home in bed.” Therefore, you should choose [C] .

11.
[A] Frank could help him get a job on an airplane.

[B] The woman would understand if she had Frank's job.

[C] Waiting on tables is an enjoyable job.

[D] She is tired of waiting for him there
12.
[A] Bill repaired the tire himself.

[B] Bill paid to have his motorcycle fixed.

[C] Bill was silly to have wasted his money.

[D] Bill now works in a garage.

13.
[A] Frank's negligence.

[B] Frank's choice of subject.

[C] Frank's condescending attitude.

[D] Frank's irrelevant response.

14.
[A] No one will look at the bulletin board.

[B] The store isn't a good place for a meeting.

[C] The man has never noticed a bulletin board there.

[D] The woman should ask the manager.

15.
[A] He feels that the trip will take too long.

[B] The students haven't chosen a professor.

[C] Professor Smith has to choose the destination first.

[D] It's not certain the trip will take place.

16.
[A] They couldn't sleep well last night.

[B] Both of them went to bed late last night.

[C] They quarreled till late last night.

[D] Both of them overslept.

17.
[A] $100

[B] $150.

[C] $200.

[D] $250.

18.
[A] Carol missed the class.

[B] Carol attended the class.

[C] Carol came to class because she liked it.

[D] Carol came to class because she had a test to take.
19.
[A] Sunday. 

[B] Monday. 

[C] Tuesday. 

[D] Wednesday. 
20.
[A] 1:00 p.m.

[B] 3:00 p.m. 

[C] 11:00 a.m.

[D] 3:00 a.m.

Section C
Directions :

In this section you will hear several brief talks and/or conversations. You will hear them once only. After each one, you will hear some questions. You will hear each question once only. After you hear the question, you will have 1 5 to 20 seconds to choose the best answer from the four choices given. Mark your answer on the answer sheet by drawing with a pencil a short bar across the corresponding letter in the brackets.

21.
[A] A passive sleep first, then an active sleep.

[B] An active sleep first, then a passive sleep. 

[C] One passive sleep or one active sleep.

[D] Several passive sleeps and active sleeps. 
22.
[A] In both active and passive sleep.

[B] In passive sleep.

[C] In active sleep.

[D] When we feel tired.

23.
[A] Half an hour.

[B] An hour.

[C] Half of the sleeping hours.

[D] An hour and a half.

24.
[A] To give the students new information.

[B] To remind the students of something.

[C] To warn the students of something.

[D] To explain a new procedure.

25.
[A] By city bus.

[B] In a school bus.

[C] In individual cars.

[D] Grouped in cars.

26.
[A] Handed out directions

[B] Went to the museum

[C] Wrote a report

[D] Studied Impressionism

27.
[A] 1800-1850

[B] 1875-1900

[C] 1900-1950

[D] 1950-1975

28.
[A] Children who are fond of watching TV.

[B] Children who are taught by TV.

[C] Children whose parents are TV stars.

[D] Children who act in TV programs.

29.
[A] They study by watching TV. 

[B] Their classroom moves from one place to another. 

[C] They learn how to make TV programs.

[D] They spend little time on their lessons.

30.
[A] Teach the required subjects in limited hours.

[B] See that the children have time for rest and play. 

[C] Make sure that the children get good marks. 

[D] Make sure that the children don’t work too many hours. 
Part II Grammatical Structure and Vocabulary
Section A 

Directions :

There are five sentences in this section. Beneath each sentence there are 4 words or phrases marked [A], [B], [C] and [D]. Choose the one word or phrase that best completes the sentence. Mark your answer on the Answer Sheet by drawing with a pencil a short bar across the corresponding letter in the brackets.

Example: I have been to the Great Wall three times ___ 1979.

[A] from

[B] after

[C] for

[D] since

The sentence should read, “I have been to the Great Wall three times since 1979.” Therefore you should choose [D] .
31.Come and see me _______ three day's time.

[A] for

[B] in

[C] after

[D] during

32. _______ the result of his experiment was conclusive, Dr. Johnson continued to search for the new subatomic particle.

[A] Unless

[B] Before

[C] Although

[D] Whether

33. Hiccups cannot be produced voluntarily, _______ be easily eliminated.

[A] nor can they

[B] and cannot it

[C] nor they can

[D] they cannot
34. ______ he realized it was too late to return home.


[A] It was not until dark that

[B] No sooner it grew dark when

[C] Hardly it grew dark that

[D] While it grew dark that
35. I didn't expect James to apologize but I hoped _______ .


[A] him calling me

[B] that he would call me

[C] him to call me

[D] that he call me

Section B
Directions :

There are five sentences in this section. Each sentence has four parts underlined. The four underlined parts are marked [A], [B], [C] and [D]. Identify the one underlined part that is INCORRECT. Mark your answer on the answer sheet by drawing with a pencil a short bar across the corresponding letter in the brackets.

Example: A number of foreign visitors were taken to the industrial exhibition which they saw

A
B
C
D

many new products.

Answer [C] is wrong because the sentence should read, “A number of foreign visitors were taken to the industrial exhibition where they saw many new products.” So you should choose[C] .

36. The greenest and plentifulest leaves are the leaves of grasses.

A
B
C
D

37. Sugar cane provides more than half of the world’s sugars supply.


A
B
C
D

38. In his latest article, the reporter criticized the way which the racial problem was being handled.


A
B
C
D
39. We hope your suggestion will contribute to solve the problem.

A
B
C
D

40 When one is speaking to foreigners, it is sometimes difficult to make oneself understand.


A
B
C
D

Section C

Directions:

There are 10 sentences in this section. Each sentence has a word or phrase underlined. There are four words or phrases beneath each sentence. Choose the one word or phrase which would best keep the meaning of the original sentence if it were substituted for the underlined part. Mark your choice on the Answer Sheet by drawing with a pencil a short bar across the corresponding letter in the brackets.

Example: The initial step is often the most difficult.

[A] quickest

[B] longest
[C] last.

[D] first
The best answer is [D] because “first” has the same meaning as “initial” in the sentence. Therefore you should choose [D] 
41. I've resigned my job.

[A] quit

[B] found

[C] changed

[D] finished

42. These seats are reserved for old and sick people.

[A] resolved

[B] resisted

[C] kept

[D] built 
43. A product may be protected from competitors via the registration under a trademark.

[A] slogan

[B] pen name

[C] brand name

[D] boycott

44. Michael was such a shrewd businessperson that he never lost money in any transaction.

[A] fortunate

[B] clever

[C] wealthy

[D] well-liked

45. We will need to leave out some of the preliminary exercises at the graduation because of the large number of students receiving degrees.

[A] outfit

[B] audit

[C] omit

[D] quit

46. She was confused by the new customs when she first arrived, but now she feels more comfortable.

[A] beckoned

[B] bewildered

[C] barricaded

[D] blamed

47. Optimal weather conditions for fuschias include foggy mornings and temperature above 

freezing.

[A] Elaborate

[B] Necessary

[C] Most critical

[D] Most advantageous

48. A misplaced billboard can totally obscure a scenic highway view.

[A] hide

[B] mar

[C] damage

[D] remove

49. Political refugees often find sanctuary in churches.

[A] happiness

[B] protection

[C] peace

[D] charity

50.
A backyard swimming pool can be a hazard for small children.

[A] pleasure

[B] disaster

[C] danger

[D] thrill

Part III   Cloze

Directions: For each blank in the following passage, choose the best answer from the choices in the column on the right. Then, on your Answer Sheet, find the number of the question and draw a short bar across the corresponding letter.

On the morning of May 20, 1927, Charles 
Lindbergh took off from New York and [51] 
51.
[A] head

[B] headed

[C] heading

[D] was heading 
for Paris. Fourteen hours later he [52]. During
52.
[A] still flew

[B] has still flown

[C] was still flying

[D] had still flown 
the fourteen hours, he [53] some anxious moments. 
53.
[A] has
Sleet had gathered on the wings of the plane and 
[B] was having 

[C] has had

[D] had had 
the fog was [54] thick that he could hardly see 
54.
[A] so

[B] such

[C] very

[D] that
the tips of [55] . However, he had encountered 
55.
[A] a wing

[B] the wing 

[C] wings

[D] the wings
equally dangerous flying conditions [56]. Of 
56.
[A] now

[B] then

[C] before

[D] later
course, [57] he was over the ocean his parachute
57.
[A] for now

[B] just now 

[C] now then 

[D] now that 
was useless. He had only one [58]; he had to
58.
[A] choice 
go on.
[B] decision 
Although he had waited a long time to 
[C] mind

[D] place
make this trip, he did not feel strange or [59]. 
59.
[A] lost

[B] moved 

[C] nervous 

[D] reserved
He was accustomed to [60] alone, and he had 
60.
[Al fly
flown this route in his imagination many times. The 
[B] flying
idea of flying across the Atlantic had occurred 
[C] be flying

[D] have flown
[61] him one night when he had been carrying
61.
[A] on

[B] upon

[C] onto

[D] to
the mail between St. Louis and Chicago. That [62] , 
62.
[A] moment

[B] day

[C] night

[D] minute
he told himself that a non-stop [63] between New 
63.
[A] plane
York and Paris was possible.
[B] route

[C] mail
Alone in the plane, Lindbergh knew that it 
[D] flight
[64] be fatal to fall asleep. Before the fight, he had 
64.
[A] would

[B] should

[C] may

[D] must
trained himself to stay [65] for long periods of 
65.
[A] awakened

[B] awoke

[C] awaked

[D] awake
time. At 12:10 [66] the afternoon of May 21, 
66.
[A] at
Lindberg caught sight of the coast of Ireland. 
[B] in
Now that the flight was almost over, he began to 
[C] on

[D] by

relax [67]. Finally, after thirty-four hours 
67.
[A] a few


[B] few

[C] a little

[D] little
[ 68 ] without sleep, he arrived at Le Bourget
68.
[A] in the air 

Field, in Paris.
[B] in an air

[C] by air
More than a hundred thousand people were
[D] by the air 
there to welcome him as [69] hero. Though the
69.
[A] the great 


[B] a great

[C] a greatest
whole world was praising him, Lindbergh kept

[D] the greatest 
[70] head. He resisted the temptation to profit
70.[A] a 

by his enormous popularity.
[B] the

[C] his

[D] its
Part IV   Reading Comprehension

Questions 71-90

Directions: In the following four passages, each passage is followed by questions or unfinished statements, each with four suggested answers. Choose the one you think is the best answer. Mark your choice on the Answer Sheet by drawing with a pencil a short bar across the corresponding letter in the brackets.

Questions 71-75 are based on the following passage:


The human body has the ability to adapt to widely differing climatic conditions while maintaining a constant internal temperature of about 98.6 degrees Fahrenheit. Although man cannot live without protection in very high or very low temperatures, the Indians on the tip of South America and the Australian aborigines are able to endure extreme cold with little or no clothing. Eskimos have also developed short limbs to reduce the extent of blood circulation, and Negroids have adapted to tropical conditions by a darkening of skin color. Nevertheless, man has generally adapted to extreme temperatures by means of developing his material culture.

71. Which of the following would be the best title for the passage?


[A] Man's Adaptation to Varied Climates


[B] Man's Adaptation to Cold Weather Conditions


[C] Man's Life in the North


[D] The Evolution of Man

72. The passage states that man's physical adaptation to weather conditions


[A] does not include extremely hot or cold temperatures

 
[B] is restricted to hot climates


[C] is preferred to cultural development


[D] is somewhat limited

73. Two groups which have adapted to extreme cold are


[A] Negroids and Australian aborigines


[B] Australian aborigines and South American Indians


[C] Mongoloids and Caucasoids


[D] Eskimos and Caucasoids

74. According to the passage, the Eskimo has adapted to cold climates by

[A] wearing warm clothing

[B] developing shorter arms and legs

[C] a darkening of skin color

[D] building warm houses

75. How has man most generally adapted to extreme temperatures?

[A] By evolving physically

[B] By avoiding exposure

[C] By developing his material culture

[D] By altering his migration patterns

Questions 76-80 are based on the following passage:


A new family of chemical dyes that can be used to coat eyeglasses to screen out harmful light rays has been developed by Berg Industries, Inc., of Burbank, Calif. Berg's optical coatings are all variations of an orange-colored organic dye. In one formula, according to the developer, the dye will block the bandwidth of visible blue light that causes night blindness – also known as snow blindness – a vision-impairing condition that affects pilots, truck drivers and outdoor sportsmen who spend long periods looking into glaring sunlight. The dye can also be mixed to screen out certain fluorescent-light wavelengths that may be harmful to a person's vision over a period of time.


Developed over the last three years in conjunction with the California Institute of Technology, the lens coatings are said to be inexpensive and simple to apply in a dipping process. They will soon be available for licensing to prescription-eyeglass and sunglass manufacturers.

76. The purpose of the new invention is to

[A] make spectacles more ornamental.

[B] make spectacles more durable.

[C] remedy people's visual defects.

[D] protect people's vision.

77. The new product is used in the form of

[A] a solid.

[B] a liquid.

[C] a gas.

[D] a spray.

78. When and by whom is the new product used?

[A] By eyeglass manufacturers during the manufacture of lenses.

[B] By spectacle-wearers before putting on and after taking off their spectacles.

[C] By pilots, truck drivers and sportsmen while they are under glaring sunlight.

[D] By eye doctors in treating patients suffering from impaired eyesight.

79. Which of the following is a feature of the new product?

[A] It can easily be used by anybody.

[B] It can be afforded only by a few.

[C] It can be obtained only by a doctor's prescription.

[D] It can be mixed differently to serve different purposes.
80. Which of the following is the cause of snow blindness?

[A] Invisible ultraviolet ray's coming from the sun.


[B] Visible blue rays of certain wavelengths.


[C] Glaring orange-colored rays coming from the sun.


[D] Fluorescent rays of certain wavelengths.

Questions 81-85 are based on the following passage:

Britain is not just one country and one people, even if some of its inhabitants think so. Britain is, in fact, a nation which can be divided into several separate parts, each part being an individual country with its own language, character and cultural traditions. Thus Scotland, Northern Ireland, Wales (and Cornwall perhaps) do not claim to belong to “English” because their inhabitants are not strictly “English”. They are Scottish, Irish, Welsh (or Cornish) and many of them prefer to speak their own native tongue which in turn is incomprehensible to the others.


These cultural minorities have been Britain's original inhabitants. In varying degrees they have managed to preserve their national identity, their particular customs and way of life. This is probably even more true of the remote areas where traditional life has not been so affected by the growth of industrialism as the border areas have been. The Celtic races are said to be more emotional by nature than the English. An Irish temper is legendary! The Scots would rather forget about their reputation for excessive thrift and prefer to be remembered for their ballads and dances, while the Welsh are famous for their singing. The Celtic temperament as a whole produces numerous writers and artists, such as the Irish Bernard Shaw, the Scottish Robert Burns, and the Welsh Dylan Thomas, to mention but a few.
81. Some British people regard Britain as _____.

[A] a single, unified country

[B] a country of foreign cultures

[C] a wholly Celtic country

[D] an individualistic unit

82. “Their own native tongue” means

[A] the language of a foreign country

[B] the language of their own country

[C] the British way of speaking

[D] a secret language

83. “A cultural minority” could be described as_________.

[A] cultured people who are few in number

[B] people of the same race who are small in stature

[C] members of ethnic groups under the age of 21

[D] small ethnic groups

84. According to the passage some cultural minorities have _________.


[A] lost their individual character centuries ago


[B] retained their individual character


[C] lost count of their numbers


[D] managed to preserve their English character

85. What is mentioned as being one of the probable reasons for preservation of traditional life？

[A] Ethnic custom

[B] A specialised lifestyle

[C] The growth of industrialism

[D] Geographical isolation

Questions 86-90 are based on the following passage：

There are two basic differences between the large and the small enterprises. In the small enterprise you operate primarily through personal contacts. In the large enterprise you have established “policies”, “channels” of organization, and fairly rigid procedures. In the small enterprise you have, moreover, immediate effectiveness in a very small area. You can see the effect of your work and of your decisions right away, once you are a little above ground floor. In the large enterprise even the man at the top is only a cog in a big machine. To be sure, his actions affect a much greater area than the actions and decisions of the man in the small organization, but his effectiveness is remote, indirect, and difficult to see at first sight. In a small and even in a middle-sized business you are normally exposed to all kinds of experiences, and expected to do a great many things without much help or guidance. In the large organization you are normally taught one thing thoroughly. In the small one the danger is of becoming a JACK-OF-ALL-TRADES and master of none. In the large one it is of becoming the man who knows more and more about less and less.

There is one other important thing to consider: Do you derive a deep sense of satisfaction from being a member of a well-known organization – General Motors, the Bell Telephone System, the government? Or is it more important to you to be a well-known and important figure within your own small pond? There is a basic difference between the satisfaction that comes from being a member of a family; between impersonal grandeur and personal – often much too personal – intimacy; between life in a small office on the top floor of a skyscraper and life in a crossroads gas station.

86. In a large enterprise, ________.

[A] new technology is employed quickly

[B] all people work efficiently

[C] one’s effectiveness is felt very slowly

[D] one can get promotion easily

87. In the first paragraph, a “JACK-OF-ALL-TRADES” means _______.


[A] a person who doesn't know anything about business


[B] a person who is very capable as a businessman


[C] a person who knows a little bit of everything


[D] a person who is very knowledgeable about trade

88. We can conclude from the first paragraph that the writer ______.


[A] prefers to work for a large enterprise


[B] does not mention his own preference


[C] prefers to work for a small enterprise


[D] is against anything that goes to its extreme

89. In the second paragraph, the contrast between the organization and the family is employed
to show ______.

[A] how necessary a deep sense of satisfaction is


[B] what satisfaction means to different types of people


[C] how families may differ from one another


[D] what large enterprises can offer to ordinary families

90. It seems that the writer ________.


[A] is giving advice to applicants for jobs


[B] is commenting on the country's industry

[C] has written the passage from an economist's view 
[D] has been working for many enterprises

Questions 91-96 are based on the following passage：

Geniuses are Getting Brighter
And at genius levels of IQ, girls are not as far behind boys as they used to be.

Science has few more controversial topics than human intelligence—in particular, whether variations in it are a result of nature or nurture, and especially whether such variations differ between the sexes. It is bold, therefore, of Jonathan Wai, Martha Putallaz and Matthew Makel, of Duke University in North Carolina, to enter the fray with a paper that addresses both questions. In their paper, just published in Current Directions in Psychological Science, they describe how they sifted through nearly three decades of standardised tests administered to American high-school students to see what had been happening to the country’s brightest sparks.

They draw two conclusions. One is that a phenomenon called the Flynn effect (which weighs on the “nurture” side of the scales because it describes how IQ scores in general have been rising over the decades) applies in particular to the brightest of the bright. The other is that part, but not all, of the historic difference between the brainiest men and women has vanished.


The three researchers drew their data from Duke University’s Talent Identification Programme, TIP, which is designed to ferret out especially clever candidates early on: all the participants had scored in the top 5% of ability when confronted with exams designed for much older students. TIP, in turn, draws on three national exams: SAT, EXPLORE and ACT. Altogether, Dr Wai, Dr Putallaz and Dr Makel looked at data from 1.5m children. Those data spanned the years between 1981 and 2010.

In the general population boys are well known to do a bit better than girls in maths. Girls, in turn, edge out boys on tests of verbal reasoning. The result is similar overall IQ scores. Among the best young mathematical brains, however, that equality does not pertain. Here, boys do a lot better at maths than girls—but less better than they used to, as the researchers discovered.

In the early 1980s, the ratio of males to females in the top 0.01% of maths scores in SAT, the Scholastic Aptitude Test, was around 13 to 1. By the early 1990s it had fallen to four to one. After this, however, it remained obstinately unaltered. The other two tests, both of which post-date the period in which the SAT shows those huge changes, indicate less lopsided sex ratios of between two and three to one. But neither shows girls making much recent progress towards equality.


This study is not perfect. Its most interesting result rests on data from just one of the three sets of exams it looked at and its sample sizes are, necessarily, small. But it chimes with the findings of a much older investigation, carried out in 1983 by a group of researchers at Johns Hopkins University, which also discovered a male-to-female sex ratio of 13:1 among the most able young mathematicians.

Why a dramatic rise in the aptitude of America’s brightest young female mathematicians should then be followed by two decades of stagnation is not obvious and the researchers offer no hypothesis. It is clear that the rise itself must be “nurture” of some sort—possibly a change in teachers’ attitudes towards girls who are interested in maths—but the subsequent stasis could have either explanation. 


Some believe that environmental influences can have real effects on IQ and this is eloquently illustrated by the Flynn effect. This phenomenon, brought to the world’s attention in the 1980s by James Flynn of the University of Otago, in New Zealand, is that average IQs around the world have been rising at the rate of 0.3 points a year for the past eight decades. Using the TIP data, Dr Wai and his colleagues showed that this is as true of the brightest youngsters in American society as it is of lesser mortals, suggesting that even they can have their abilities boosted by whatever is causing the Flynn effect. Once again, the changes seem to be mainly in mathematics. Scores in the brightest children’s verbal-reasoning and reading abilities demonstrate no clear trend, but all three national tests show sustained improvements in their mathematical ability over the past three decades.

No one knows what causes the Flynn effect. Theories range from better nutrition, via a more stimulating general environment (thanks to such things as television, radio, the internet and video games), to the phasing out of lead in petrol and paint. What is clear is that it cannot be a change in gene-given ability, which is what most people mean by “nature” in this debate, because too few generations have passed for natural selection to have had any meaningful impact. (582 words)
Questions 91-96

Decide if the following statements are true or false based on the information presented in the passage. Please select


A

if the statement is TRUE.

B

if the statement is FALSE.

C

if there is NO INFORMATION about this in the passage.
Mark your answer on the answer sheet by drawing with a pencil a short bar across the corresponding letter in the brackets. Please note that there will be penalty if your choice is wrong.
91. Girls perceive ACT to be more difficult than SAT. 

92. The aptitude of America’s brightest young female mathematicians has been rising for more than 20 years.

93. Findings made by Dr. Wai and colleagues contradict the findings made by researchers at Johns Hopkins University. 

94. Researchers at Johns Hopkins University believed that nurture played a bigger role in the Flynn effect. 

95. Dr Wai and colleagues believe that average IQs of the smartest young people, as well as those of the common people, have been rising. 

96. In view of the writer, nature plays a bigger role in the Flynn effect. 

Questions 97-100 are based on the following passage：

Society is Making us Stupid, Says Biologist


Modern living is making the human race less intelligent as survival no longer depends on having the fittest genes, according to a new theory.


Slowly but surely, our intellectual and emotional abilities are being eroded because life is just too easy, it is claimed.


The slide backwards began long before the invention of reality TV, according to Professor Gerald Crabtree, a US developmental biologist from Stanford University in California.


He believes it started with the development of agriculture and supportive urban societies, which weakened the power of natural selection to “weed out” genetic defects damaging to intelligence.


Prof Crabtree bases his claim on a study of the frequency at which destructive mutations appear naturally in the genetic code. Assuming that between 2,000 and 5,000 genes are required for intellectual ability, he estimates that within around 3,000 years – or 120 generations – everyone will be carrying at least two mutations that are harmful to the brain.


Writing in the journal Trends in Genetics, Prof Crabtree said, “Expansion of the human frontal cortex and endocranial volume, to which we likely owe our capacity for abstract thought, predominantly occurred between 50,000 and 500,000 years ago in our prehistoric African ancestors, well before written language and before we had the modern voice box to produce sophisticated verbal language.


“Thus, the selective pressures that gave us our mental characteristics operated among non-verbal hunter-gatherers living in dispersed bands or villages, nothing like present-day high-density, supportive societies.”


Recent findings from neuroscience suggest genes involved in brain function are uniquely susceptible to mutations, he pointed out. (264 words)
Decide if the following statements are true or false based on the information presented in the passage. Please select


A

if the statement is TRUE.

B

if the statement is FALSE.

C

if there is NO INFORMATION about this in the passage.
Mark your answer on the Answer Sheet by drawing with a pencil a short bar across the corresponding letter in the brackets. Please note that there will be penalty if your choice is wrong.

97. As a lot of people do not need to be fit to survive, human beings are losing their mental sharpness that they had.

98. Modern comforts work against the power of natural selection.

99. The “non-verbal hunter-gatherers living in dispersed bands” were our ancestors.

Question 100

The following question is followed by four options. Choose the one you think is the best answer. Mark your choice on the Answer Sheet by drawing with a pencil a short bar across the corresponding letter in the brackets. Please note that there will be penalty if your choice is wrong.

100. Which of the following is of the right chronological order?

[A] 
Expansion of the human frontal cortex, voice box to produce sophisticated verbal language, written language.
[B] 
Written language, voice box to produce sophisticated verbal language, expansion of the human frontal cortex.

[C] 
Written language, expansion of the human frontal cortex, voice box to produce sophisticated verbal language.

[D] 
Voice box to produce sophisticated verbal language, written language, expansion of the human frontal cortex written language.
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